Inmate Statistical Profile

Under Death Sentence

Produced for

General Distribution

Georgia Department of Corrections

Operations, Planning, and Training Division

Planning and Analysis Section

01-JUN-11

Contents

Table of Contents

Demogra	phic information
5	Current age, broken out in ten year age groups
6	Race group
7	Hispanic Origin
8	Marital status, self-reported at entry to prison
9	Number of children, self-reported at entry to prison
10	Religious affiliation, self-reported at entry to prison
11	Home county - self-reported at entry to prison
13	Socioeconomic class, self-reported at entry to prison
14	Environment to age 16, self-reported at entry to prison
15	Guardian status to age 16, self-reported at entry to prison
16	Employment status before prison, self-reported at entry to prison
17	Age at admission
	Age at admission
20	Height, measured at entry to prison
21	Weight, measured at entry to prison
	Military service
Correction	onal information
23	Type of admission to prison
	Current / last security status
25	Current / last institution type
	Institution type - transitional centers
	Institution type - mental hospitals
	Institution type - county prisons
	Institution type - state prisons
	Institution type - private prisons
	Institution type - prison annexes
	Institution type - pre-release centers
	Institution type - inmate boot camp
	Number of disciplinary reports
35	Number of transfers

Under Death Sentence

Produced for General Distribution

Contents

Table of Contents

Correction	nal information
36	Time served in current (or last) institution
Educatio	nal, psychological and physical information
	Highest grade level attained
38	Culture fair IQ scores
39	Wide Range Achievement Test (WRAT) reading score
40	Wide Range Achievement Test (WRAT) math score
41	Wide Range Achievement Test (WRAT) spelling score
42	Scope of substance abuse - summary
43	Scope of substance abuse - detail
44	Current / last mental health treatment level
45	PULHESDWIT medical scale - 'P' overall condition ('P'hysical)
46	PULHESDWIT medical scale - 'U' upper body
47	PULHESDWIT medical scale - 'L' lower body
48	PULHESDWIT medical scale - 'H' hearing
49	PULHESDWIT medical scale - 'E' vision
50	PULHESDWIT medical scale -'S' psychiatric
51	PULHESDWIT medical scale - 'D' dental
52	PULHESDWIT medical scale - 'W' work ability
53	PULHESDWIT medical scale - 'I' impairment
54	PULHESDWIT medical scale - 'T' transportability
55	Criminality in family, self-reported
56	Alcoholism in family, self-reported
57	Drug abuse in family, self-reported
58	Subjected to frequent beatings, self-reported
59	Father absent during inmate's childhood
60	Mother absent during inmate's childhood
61	Inmate diagnosed as manipulative
62	Inmate diagnosed as assaultive
Crimes a	nd criminal history information
63	Number of prior Georgia incarcerations

Contents

Under Death Sentence Produced for General Distribution

Table of Contents

Crimes and criminal history information
64 Prison sentence in years
65 Primary offense, broken out into felonies vs misdemeanors
66 Primary offense, broken out into six broad crime categories
67 Primary offense, detailed offense code
68 County of conviction of primary offense
70 Circuit of conviction of primary offense
71 Circuit of conviction of primary offense
73 Years served (jail + prison) in this incarceration
Medical information
74 Results of most recent HIV test
75 Results of most recent tuberculosis test
76 Results of most recent syphilis test
77 Results of most recent Hepatitis-C test

Under Death Sentence

Produced for **General Distribution**

Current age, broken out in ten-year age groups

COL % - percent each COUNT is of its particular column

		Male			Female		То	tal
Current Age	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Twenties (20-29)	2	2.04%	100.00%				2	2.02%
Thirties (30-39)	29	29.59%	100.00%				29	29.29%
Forties (40-49)	32	32.65%	96.97%	1	100.00%	3.03%	33	33.33%
Fifties (50-59)	29	29.59%	100.00%				29	29.29%
Sixties (60-69)	6	6.12%	100.00%				6	6.06%
Total Reported	98	100%	98.99%	1	100%	1.01%	99	100%

Not Reported	0	0	0
Grand Total	98	1	99

Mean (average)	45.36	43	45.33
Median (middle)	45.5	43	45
Mode (most frequent)	50	43	50

Under Death Sentence

Produced for **General Distribution**

Race group

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
Race Group	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 White	49	50.00%	98.00%	1	100.00%	2.00%	50	50.51%
2 Black	47	47.96%	100.00%				47	47.47%
10 Hispanic	2	2.04%	100.00%				2	2.02%
Total Reported	98	100%	98.99%	1	100%	1.01%	99	100%

Not Reported	0	0	0
Grand Total	98	1	99

Mode (most frequent)	White	White	White

Under Death Sentence

Produced for **General Distribution**

Page 7

Hispanic Origin

COL % - percent each COUNT is of its particular column

ROW % - percent each COUNT is of its particular row

		Male			Female		To	otal
Hispanic Origin	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Non Hispanic	96	97.96%	98.97%	1	100.00%	1.03%	97	97.98%
Hispanic	2	2.04%	100.00%				2	2.02%
Total Reported	98	100%	98.99%	1	100%	1.01%	99	100%

An inmate is counted as Hispanic if

- (a) he self-reported as Hispanic during the diagnostic process, or
- (b) his primary language is Spanish, or
- (c) he claimed birth or citizenship in Spain or a Latin American country, or
- (d) he had a common Spanish surname such as Lopez or Garcia

Under Death Sentence

Produced for **General Distribution**

Marital status, self-reported at entry to prison

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
Marital Status	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
0 Unknown	8	8.16%	100.00%				8	8.08%
D Divorced	18	18.37%	100.00%				18	18.18%
M Married	12	12.24%	100.00%				12	12.12%
S Separated	2	2.04%	100.00%				2	2.02%
U Unmarried	54	55.10%	100.00%				54	54.55%
W Widow	4	4.08%	80.00%	1	100.00%	20.00%	5	5.05%
Total Reported	98	100%	98.99%	1	100%	1.01%	99	100%

Not Reported	0	0	0
Grand Total	98	1	99

Mode (most frequent)	Unmarried	Widow	Unmarried
mous (most moduling)	• · · · · · · · · · · · · · · ·		

Under Death Sentence

Produced for **General Distribution**

Number of children, self reported at entry to prison

COL % - percent each COUNT is of its particular column

		Male			Female		То	tal
Number of Children	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
0	14	20.90%	100.00%				14	20.59%
1	25	37.31%	100.00%				25	36.76%
2	11	16.42%	100.00%				11	16.18%
3	9	13.43%	90.00%	1	100.00%	10.00%	10	14.71%
4	4	5.97%	100.00%				4	5.88%
5	2	2.99%	100.00%				2	2.94%
8	1	1.49%	100.00%				1	1.47%
9	1	1.49%	100.00%				1	1.47%
Total Reported	67	100%	98.53%	1	100%	1.47%	68	100%
Not Reported		31			0		3	B1
Grand Total		98			1		g	9

Mean (average)	1.75	3	1.76
Median (middle)	1	3	1
Mode (most frequent)	1	2	1

Under Death Sentence

Produced for **General Distribution**

Religious affiliation, self-reported at entry to prison

COL % - percent each COUNT is of its particular column

			Male			Female		To	tal
Religio	ous Affiliation	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1	Islam	4	5.00%	100.00%				4	5.00%
2	Catholic	3	3.75%	100.00%				3	3.75%
3	Baptist	41	51.25%	100.00%				41	51.25%
4	Methodist	3	3.75%	100.00%				3	3.75%
7	Chc Of God	2	2.50%	100.00%				2	2.50%
8	Holiness	2	2.50%	100.00%				2	2.50%
9	Jewish	1	1.25%	100.00%				1	1.25%
17	Jehovah Wt	2	2.50%	100.00%				2	2.50%
20	Other Prot	10	12.50%	100.00%				10	12.50%
96	None	12	15.00%	100.00%				12	15.00%
Total R	Reported	80	100%	100%			%	80	100%

Not Reported	18	1	19
Grand Total	98	1	99

Mode (most frequent)	Baptist	Null	Baptist
----------------------	---------	------	---------

Under Death Sentence

Produced for **General Distribution**

Home county, self-reported at entry to prison

COL % - percent each COUNT is of its particular column

			Male			Female		To	
Home	County	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1	Appling	1	1.35%	100.00%				1	1.33%
3	Bacon	1	1.35%	100.00%				1	1.33%
5	Baldwin	5	6.76%	100.00%				5	6.67%
7	Barrow	1	1.35%	50.00%	1	100.00%	50.00%	2	2.67%
8	Bartow	1	1.35%	100.00%				1	1.33%
11	Bibb	1	1.35%	100.00%				1	1.33%
14	Brooks	1	1.35%	100.00%				1	1.33%
17	Burke	1	1.35%	100.00%				1	1.33%
18	Butts	1	1.35%	100.00%				1	1.33%
25	Chatham	4	5.41%	100.00%				4	5.33%
31	Clayton	4	5.41%	100.00%				4	5.33%
33	Cobb	4	5.41%	100.00%				4	5.33%
40	Crisp	1	1.35%	100.00%				1	1.33%
42	Dawson	1	1.35%	100.00%				1	1.33%
44	Dekalb	5	6.76%	100.00%				5	6.67%
47	Dougherty	1	1.35%	100.00%				1	1.33%
48	Douglas	1	1.35%	100.00%				1	1.33%
52	Elbert	1	1.35%	100.00%				1	1.33%
57	Floyd	3	4.05%	100.00%				3	4.00%
60	Fulton	5	6.76%	100.00%				5	6.67%
63	Glynn	3	4.05%	100.00%				3	4.00%
64	Gordon	1	1.35%	100.00%				1	1.33%
67	Gwinnett	2	2.70%	100.00%				2	2.67%
75	Henry	1	1.35%	100.00%				1	1.33%
76	Houston	2	2.70%	100.00%				2	2.67%
78	Jackson	1	1.35%	100.00%				1	1.33%
84	Jones	1	1.35%	100.00%				1	1.33%
93	Lumpkin	1	1.35%	100.00%				1	1.33%
94	Macon	1	1.35%	100.00%				1	1.33%
102	Monroe	1	1.35%	100.00%				1	1.33%
105	Murray	1	1.35%	100.00%				1	1.33%
106	Muscogee	3	4.05%	100.00%				3	4.00%
107	Newton	2	2.70%	100.00%				2	2.67%
110	Paulding	1	1.35%	100.00%				1	1.33%
112	Pickens	1	1.35%	100.00%				1	1.33%
121	Richmond	1	1.35%	100.00%				1	1.33%
126	Spalding	2	2.70%	100.00%				2	2.67%
134	Telfair	1	1.35%	100.00%				1	1.33%

Page 12

Under Death Sentence

Produced for **General Distribution**

Home county, self-reported at entry to prison

COL % - percent each COUNT is of its particular column

		Male			Female		To	tal
Home County	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
136 Thomas	1	1.35%	100.00%				1	1.33%
139 Towns	1	1.35%	100.00%				1	1.33%
148 Ware	2	2.70%	100.00%				2	2.67%
160 Unknown	1	1.35%	100.00%				1	1.33%
Total Rported	74	100%	98.67%	1	100%	1.33%	75	100%

Not Reported	24	0	24
Grand Total	98	1	99

Mode (most frequent)	Baldwin	Barrow	Baldwin

Under Death Sentence

Produced for **General Distribution**

Socioeconomic class, self-reported at entry to prison

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
Socioeconomic Class	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 Welfare	10	11.11%	100.00%				10	10.99%
2 Occ Employ	2	2.22%	100.00%				2	2.20%
3 Minimum Std	31	34.44%	96.88%	1	100.00%	3.13%	32	35.16%
4 Middle	47	52.22%	100.00%				47	51.65%
Total Reported	90	100%	98.9%	1	100%	1.1%	91	100%

Not Reported	8	0	8
Grand Total	98	1	99

Mode (most frequent)	Middle	Minimum Std	Middle

Under Death Sentence

Produced for **General Distribution**

Environment to age 16, self-reported at entry to prison

COL % - percent each COUNT is of its particular column

ROW % - percent each COUNT is of its particular row

		Male			Female		To	tal
Environment to age 16	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 Rural/Farm	8	9.09%	88.89%	1	100.00%	11.11%	9	10.11%
2 Rural/Nfarm	13	14.77%	100.00%				13	14.61%
3 S.M.S.A	25	28.41%	100.00%				25	28.09%
4 Urban	20	22.73%	100.00%				20	22.47%
5 Small Town	22	25.00%	100.00%				22	24.72%
Total Reported	88	100%	98.88%	1	100%	1.12%	89	100%

Not Reported	10	0	10
Grand Total	98	1	99

Mode (most frequent)	S.M.S.A	Rural/Farm	S.M.S.A

Environment to age 16 Inmate Statistical Profile Page 14

Under Death Sentence

Produced for **General Distribution**

Guardian status to age 16, self-reported at entry to prison

COL % - percent each COUNT is of its particular column

		Male			Female		To	tal
Guardian Status To Age 16	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
2 Father Only	3	3.80%	100.00%				3	3.75%
3 Both Parents	42	53.16%	100.00%				42	52.50%
4 Mother Only	24	30.38%	96.00%	1	100.00%	4.00%	25	31.25%
6 Oth Female	2	2.53%	100.00%				2	2.50%
8 Step-Parents	2	2.53%	100.00%				2	2.50%
9 Foster Home	3	3.80%	100.00%				3	3.75%
10 Grand Parents	3	3.80%	100.00%				3	3.75%
Total Reported	79	100%	98.75%	1	100%	1.25%	80	100%

Not Reported	19	0	19
Grand Total	98	1	99

Mode (most frequent)	Both Parents	Mother Only	Both Parents

Inmate Statistical Profile 01-JUN-11 Page 16

Under Death Sentence

Produced for **General Distribution**

Employment status before prison, self-reported at entry to prison

COL % - percent each COUNT is of its particular column

		Male			Female		To	tal
Employment Status	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 Full Time	32	41.56%	96.97%	1	100.00%	3.03%	33	42.31%
2 Part Time	6	7.79%	100.00%				6	7.69%
3 Unempl < 6m	15	19.48%	100.00%				15	19.23%
4 Unempl > 6m	16	20.78%	100.00%				16	20.51%
5 Never Workd	5	6.49%	100.00%				5	6.41%
7 Incapable	3	3.90%	100.00%				3	3.85%
Total Reported	77	100%	98.72%	1	100%	1.28%	78	100%

Not Reported	21	0	21
Grand Total	98	1	99

Mode (most frequent)	Full Time	Full Time	Full Time

Under Death Sentence

Produced for **General Distribution**

Age at admission

COL % - percent each COUNT is of its particular column

		Male			Female	I	Tot	al
Age At Admission	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
18	1	1.02%	100.00%				1	1.01%
19	1	1.02%	100.00%				1	1.01%
20	3	3.06%	100.00%				3	3.03%
21	8	8.16%	100.00%				8	8.08%
22	8	8.16%	100.00%				8	8.08%
23	4	4.08%	100.00%				4	4.04%
24	5	5.10%	100.00%				5	5.05%
25	6	6.12%	100.00%				6	6.06%
26	6	6.12%	100.00%				6	6.06%
27	3	3.06%	100.00%				3	3.03%
28	7	7.14%	100.00%				7	7.07%
29	1	1.02%	100.00%				1	1.01%
30	3	3.06%	75.00%	1	100.00%	25.00%	4	4.04%
31	6	6.12%	100.00%				6	6.06%
32	6	6.12%	100.00%				6	6.06%
33	3	3.06%	100.00%				3	3.03%
34	3	3.06%	100.00%				3	3.03%
35	3	3.06%	100.00%				3	3.03%
36	3	3.06%	100.00%				3	3.03%
37	3	3.06%	100.00%				3	3.03%
38	2	2.04%	100.00%				2	2.02%
40	2	2.04%	100.00%				2	2.02%
45	2	2.04%	100.00%				2	2.02%
46	1	1.02%	100.00%				1	1.01%
47	1	1.02%	100.00%				1	1.01%
48	1	1.02%	100.00%				1	1.01%
49	1	1.02%	100.00%				1	1.01%
51	1	1.02%	100.00%				1	1.01%
52	1	1.02%	100.00%				1	1.01%
57	1	1.02%	100.00%				1	1.01%
59	1	1.02%	100.00%				1	1.01%
62	1	1.02%	100.00%				1	1.01%
Total Reported	98	100%	98.99%	1	100%	1.01%	99	100%

Not Reported	0	0	0
Grand Total	98	1	99

Mean (average)	30.36	30	30.35
Median (middle)	28	30	28

Under Death Sentence

Produced for **General Distribution**

Age at admission

COL % - percent each COUNT is of its particular column

	Male	Female	Total
Metalite (2/2ntest30e)quent)	22		
Grand Total			

Under Death Sentence

Produced for **General Distribution**

Height, measured at entry to prison

COL % - percent each COUNT is of its particular column

		Male			Female		То	tal
Height	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
5'02"	1	1.79%	100.00%				1	1.75%
5'05"	2	3.57%	100.00%				2	3.51%
5'06"	2	3.57%	100.00%				2	3.51%
5'07"	5	8.93%	100.00%				5	8.77%
5'08"	3	5.36%	100.00%				3	5.26%
5'09"	4	7.14%	100.00%				4	7.02%
5'10"	14	25.00%	93.33%	1	100.00%	6.67%	15	26.32%
5'11"	16	28.57%	100.00%				16	28.07%
6'00"	4	7.14%	100.00%				4	7.02%
6'01"	2	3.57%	100.00%				2	3.51%
6'02"	2	3.57%	100.00%				2	3.51%
6'04"	1	1.79%	100.00%				1	1.75%
Total Reported	56	100%	98.25%	1	100%	1.75%	57	100%

Not Reported	42	0	42
Grand Total	98	1	99

Mean (average)	5'10"	5'10"	5'10"
Median (middle)	5'10"	5'10"	5'10"
Mode (most frequent)	5'11"	5'10"	5'11"

Under Death Sentence

Produced for **General Distribution**

Weight, measured at entry to prison

COL % - percent each COUNT is of its particular column

		Male			Female		То	tal
Weight	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
130 - 139 pounds	1	1.61%	100.00%				1	1.59%
140 - 149 pounds	1	1.61%	100.00%				1	1.59%
150 - 159 pounds	3	4.84%	100.00%				3	4.76%
160 - 169 pounds	4	6.45%	100.00%				4	6.35%
170 - 179 pounds	8	12.90%	100.00%				8	12.70%
180 - 189 pounds	18	29.03%	100.00%				18	28.57%
190 - 199 pounds	6	9.68%	100.00%				6	9.52%
200 - 209 pounds	5	8.06%	100.00%				5	7.94%
210 - 219 pounds	1	1.61%	100.00%				1	1.59%
220 - 229 pounds	7	11.29%	87.50%	1	100.00%	12.50%	8	12.70%
230 - 239 pounds	1	1.61%	100.00%				1	1.59%
250 - 259 pounds	3	4.84%	100.00%				3	4.76%
260 - 269 pounds	2	3.23%	100.00%				2	3.17%
280 - 289 pounds	1	1.61%	100.00%				1	1.59%
310 - 319 pounds	1	1.61%	100.00%				1	1.59%
Total Reported	62	100%	98.41%	1	100%	1.59%	63	100.0%

Not Reported	36	0	36
Grand Total	98	1	99

Mean (average)	196	225	196
Median (middle)	185	225	185
Mode (most frequent)	180	225	180

Under Death Sentence

Produced for **General Distribution**

Military service

COL % - percent each COUNT is of its particular column ROW % - percent each COUNT is of its particular row

			Male			Female		To	otal
Milita	ry service	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1	Air Force	9	12.16%	90.00%	1	100.00%	10.00%	10	13.33%
3	Navy	4	5.41%	100.00%				4	5.33%
5	Coast Guard	1	1.35%	100.00%				1	1.33%
96	None	60	81.08%	100.00%				60	80.00%
Total	Reported	74	100%	98.67%	1	100%	1.33%	75	100%

Not Reported	24	0	24
Grand Total	98	1	99

Mode (most frequent)	Air Force	Air Force	Air Force

Under Death Sentence

Produced for **General Distribution**

Type of admission to prison

COL % - percent each COUNT is of its particular column

	Male			Female			Total	
Type of Admission	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 Committed From Court	98	100.00%	98.99%	1	100.00%	1.01%	99	100.00%
Total Reported	98	100%	98.99%	1	100%	1.01%	99	100%

Not Reported	0	0	0
Grand Total	98	1	99

Mode (most frequent)	Court Cmmt	Court Cmmt	Court Cmmt

Under Death Sentence

Produced for **General Distribution**

Current / last security status

COL % - percent each COUNT is of its particular column

	Male				Female	Total		
Security Status	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
5 Close	1	1.10%	50.00%	1	100.00%	50.00%	2	2.17%
6 Maximum	90	98.90%	100.00%		.00%		90	97.83%
Total Reported	91	100%	98.91%	1	100%	1.09%	92	100%

Still being diagnosed	7	0	7
Not Reported	0	0	0
Grand Total	98	1	99

				_
Mode (most frequent)	Maximum	Close	Maximum	1

Under Death Sentence

Produced for **General Distribution**

Current / last type of institution

COL % - percent each COUNT is of its particular column

	Male		Female			Total		
Type of Institution	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
State Prison	98	100.00%	98.99%	1	100.00%	1.01%	99	100.00%
Total Reported	98	100%	98.99%	1	100%	1.01%	99	100%

Not Reported	0	0	0
Grand Total	98	1	99

Mode (most frequent)	State Prison	State Prison	State Prison

Inmate Statistical Profile 01-JUN-11 Page 26

Under Death Sentence

Produced for **General Distribution**

Institution type - transitional centers

COL % - percent each COUNT is of its particular column

Institution Type Trans Contars Count Col 0/			Female			Total	
Institution Type - Trans. Centers Count Col %	Row %	Count	Col %	Row %	Total	Col %	
Total Reported							

Not Reported	0	0	0
Grand Total			

Mode (most frequent)	Null	Null	Null

Inmate Statistical Profile 01-JUN-11 Page 27

Under Death Sentence

Produced for **General Distribution**

Institution type - mental hospitals

COL % - percent each COUNT is of its particular column

	Male		Female			Total		
Institution Type - Mental Hospitals	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Total Reported								

Not Reported	0	0	0
Grand Total			

Mode (most frequent)	Null	Null	Null

Inmate Statistical Profile 01-JUN-11 Page 28

Under Death Sentence

Produced for **General Distribution**

Institution type - county prisons

COL % - percent each COUNT is of its particular column ROW % - percent each COUNT is of its particular row

		Male			Female		То	tal
Institution Type - County Prisons	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Total Reported								
Not Reported		0			0	I		0
Grand Total								
Mode (most frequent)		Null			Null		Ni	ull

Inmate Statistical Profile 01-JUN-11 Georgia Dept of Corrections

Page 29

Under Death Sentence

Produced for **General Distribution**

Institution type - state prisons

COL % - percent each COUNT is of its particular column

	Male				Female		Total	
Institution Type - State Prisons	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
508 Arrendale State Prison				1	100.00%	100.00%	1	1.01%
521 Ga Diag & Class Pris	4	4.08%	100.00%				4	4.04%
522 Ga Diag & Class Pris-	94	95.92%	100.00%				94	94.95%
Perm								
Total Reported	98	100%	98.99%	1	100%	1.01%	99	100%

Not Reported	0	0	0
Grand Total	98	1	99

Mode (most frequent)	522 Ga Diag & Class Pris- Perm	508 Arrendale State Prison	522 Ga Diag & Class Pris-Perm
	1 0 1 1 1		l Giaco i ilo i cilli

Inmate Statistical Profile 01-JUN-11 Page 30

Under Death Sentence

Produced for **General Distribution**

Institution type - private prisons

COL % - percent each COUNT is of its particular column

	Male				Female		Total		
Institution Type - Private Prisons	Count	Col %	Row %	Count	Col %	Row %	Total	Col %	
Total Reported									

Not Reported	0	0	0
Grand Total			

Mode (most frequent)	Null	Null	Null

Inmate Statistical Profile 01-JUN-11 Page 31

Under Death Sentence

Produced for **General Distribution**

Institution type - prison annexes

COL % - percent each COUNT is of its particular column

	Male Female				Total			
Institution Type - Prison Annexe	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Total Reported								
Not Reported	1	0			0			0
Grand Total								
Mode (most frequent)	Null			Null			N	lull

Inmate Statistical Profile 01-JUN-11 Page 32

Under Death Sentence

Produced for **General Distribution**

Institution type - pre-release centers

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
Institution Type - Prison Annexe	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Total Reported								
Not Reported		0			0			0
Grand Total								
			-					
Mode (most frequent)	Null			Null			N	ull

Inmate Statistical Profile 01-JUN-11 Page 33

Under Death Sentence

Produced for **General Distribution**

Institution type - inmate boot camp

COL % - percent each COUNT is of its particular column

	Male				Female			Total	
Institution Type - Boot Camps	Count	Col %	Row %	Count	Col %	Row %	Total	Col %	
Total Rported									

Not Reported	0	0	0
Grand Total			

Mode (most frequent)	Null	Null	Null

Inmate Statistical Profile 01-JUN-11 Page 34

Under Death Sentence

Produced for **General Distribution**

Number of disciplinary reports

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
Number of Disciplinary Reports	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
0	13	13.27%	100.00%				13	13.13%
1	14	14.29%	100.00%				14	14.14%
2	10	10.20%	100.00%				10	10.10%
3	5	5.10%	100.00%				5	5.05%
4	8	8.16%	100.00%				8	8.08%
5	5	5.10%	100.00%				5	5.05%
More Than 5	43	43.88%	97.73%	1	100.00%	2.27%	44	44.44%
Total Reported	98	100%	98.99%	1	100%	1.01%	99	100%

Not Reported	0	0	0
Grand Total	98	1	99

Mean (average)	7.88	6	7.86
Median (middle)	4	6	4
Mode (most frequent)	1	6	1

Under Death Sentence

Produced for **General Distribution**

Number of transfers

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
Number of Transfers	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
0	74	75.51%	100.00%				74	74.75%
1	15	15.31%	93.75%	1	100.00%	6.25%	16	16.16%
2	5	5.10%	100.00%				5	5.05%
3	1	1.02%	100.00%				1	1.01%
4	1	1.02%	100.00%				1	1.01%
5	1	1.02%	100.00%				1	1.01%
More Than 5	1	1.02%	100.00%				1	1.01%
Total Reported	98	100%	98.99%	1	100%	1.01%	99	100%
Not Reported		0			0			0
Grand Total		98			1		,	99

Mean (average)	.44	1	.44
Median (middle)	0	1	0
Mode (most frequent)	0	1	0

Under Death Sentence

Produced for **General Distribution**

Time served in current (or last) institution

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
Time In Institution	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
0 to 3 months				1	100.00%	100.00%	1	1.01%
9.01 to 12 months	2	2.04%	100.00%				2	2.02%
18.01 to 24 months	2	2.04%	100.00%				2	2.02%
2.01 to 3 years	2	2.04%	100.00%				2	2.02%
3.01 to 4 years	7	7.14%	100.00%				7	7.07%
4.01 to 5 years	1	1.02%	100.00%				1	1.01%
5.01 to 6 years	1	1.02%	100.00%				1	1.01%
6.01 to 7 years	5	5.10%	100.00%				5	5.05%
7.01 to 8 years	4	4.08%	100.00%				4	4.04%
8.01 to 9 years	7	7.14%	100.00%				7	7.07%
9.01 to 10 years	1	1.02%	100.00%				1	1.01%
Over 10 years	66	67.35%	100.00%				66	66.67%
Total Reported	98	100%	98.99%	1	100%	1.01%	99	100%

Not Reported	0	0	0
Grand Total	98	1	99

Mean (average)	170 months	1 months	168 months
Median (middle)	164 months	1 months	164 months
Mode (most frequent)	107 months	1 months	4 months

Inmate Statistical Profile 01-JUN-11 Page 37

Under Death Sentence

Produced for **General Distribution**

Highest grade level attained

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
Grade Level	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Grade 6	2	2.25%	100.00%				2	2.22%
Grade 7	10	11.24%	100.00%				10	11.11%
Grade 8	8	8.99%	100.00%				8	8.89%
Grade 9	11	12.36%	100.00%				11	12.22%
Grade 10	11	12.36%	100.00%				11	12.22%
Grade 11	13	14.61%	100.00%				13	14.44%
Grade 12 or GED	18	20.22%	94.74%	1	100.00%	5.26%	19	21.11%
Some tech school	3	3.37%	100.00%				3	3.33%
Completed tech school	1	1.12%	100.00%				1	1.11%
College, 2 year	7	7.87%	100.00%				7	7.78%
Bachelor's degree	4	4.49%	100.00%				4	4.44%
Master's degree	1	1.12%	100.00%				1	1.11%
Total Reported	89	100%	98.89%	1	100%	1.11%	90	100%

Not Reported	9	0	9
Grand Total	98	1	99

Mean (average)	10.64	12	10.66
Median (middle)	Grade 11	Grade 12 or GED	Grade 11
Mode (most frequent)	Grade 12 or GED	Grade 12 or GED	Grade 12 or GED

Under Death Sentence

Produced for **General Distribution**

Culture fair IQ scores

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
IQ Scores	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
60 - 69	1	3.85%	100.00%				1	3.70%
70 - 79	2	7.69%	100.00%				2	7.41%
80 - 89	2	7.69%	100.00%				2	7.41%
90 - 99	7	26.92%	100.00%				7	25.93%
100 - 109	4	15.38%	80.00%	1	100.00%	20.00%	5	18.52%
110 - 119	8	30.77%	100.00%				8	29.63%
120 - 129	2	7.69%	100.00%				2	7.41%
Total Reported	26	100%	96.30%	1	100%	3.70%	27	100.0%
Not Reported		72			0			72
Not Valid (under 60)		0			0			0

Not Reported	72	0	72
Not Valid (under 60)	0	0	0
Grand Total	98	1	99

Mean (average)	102	105	102
Median (middle)	103	105	103
Mode (most frequent)	113	105	113

Produced for **General Distribution**

Wide Range Achievement Test (WRAT) reading score

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
WRAT Reading Score	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
3.0 to 3.9	1	3.70%	100.00%				1	3.57%
4.0 to 4.9	2	7.41%	100.00%				2	7.14%
5.0 to 5.9	3	11.11%	100.00%				3	10.71%
6.0 to 6.9	2	7.41%	100.00%				2	7.14%
7.0 to 7.9	2	7.41%	100.00%				2	7.14%
8.0 to 8.9	2	7.41%	66.67%	1	100.00%	33.33%	3	10.71%
9.0 to 9.9	2	7.41%	100.00%				2	7.14%
10.0 to 10.9	1	3.70%	100.00%				1	3.57%
11.0 to 11.9	2	7.41%	100.00%				2	7.14%
12.0 to 12.9	10	37.04%	100.00%				10	35.71%
Total Reported	27	100%	96.43%	1	100%	3.57%	28	100%

Not Reported	71	0	71
Grand Total	98	1	99

Mean (average)	9.39	8.5	9.35
Median (middle)	9.2	8.5	9.2
Mode (most frequent)	12.8	8.5	12.8

Produced for **General Distribution**

Wide Range Achievement Test (WRAT) math score

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
WRAT Mathematic Score	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
3.0 to 3.9	2	7.41%	100.00%				2	7.14%
4.0 to 4.9	2	7.41%	100.00%				2	7.14%
5.0 to 5.9	4	14.81%	100.00%				4	14.29%
6.0 to 6.9	4	14.81%	100.00%				4	14.29%
7.0 to 7.9	2	7.41%	100.00%				2	7.14%
8.0 to 8.9	1	3.70%	100.00%				1	3.57%
9.0 to 9.9	3	11.11%	75.00%	1	100.00%	25.00%	4	14.29%
10.0 to 10.9	4	14.81%	100.00%				4	14.29%
11.0 to 11.9	4	14.81%	100.00%				4	14.29%
12 .0 to 12.9	1	3.70%	100.00%				1	3.57%
Total Reported	27	100%	96.43%	1	100%	3.57%	28	100.0%

Not Reported	71	0	71
Grand Total	98	1	99

Mean (average)	8.00	9.8	8.07
Median (middle)	7.8	9.8	8
Mode (most frequent)	9.8	9.8	9.8

Under Death Sentence

Produced for **General Distribution**

Page 41

Wide Range Achievement Test (WRAT) spelling score

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
WRAT Spelling Score	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
3.0 to 3.9	3	11.11%	100.00%				3	10.71%
4.0 to 4.9	5	18.52%	100.00%				5	17.86%
5.0 to 5.9	5	18.52%	100.00%				5	17.86%
6.0 to 6.9	2	7.41%	66.67%	1	100.00%	33.33%	3	10.71%
8.0 to 8.9	2	7.41%	100.00%				2	7.14%
9.0 to 9.9	2	7.41%	100.00%				2	7.14%
11.0 to 11.9	1	3.70%	100.00%				1	3.57%
12.0 to 12.9	7	25.93%	100.00%				7	25.00%
Total Reported	27	100%	96.43%	1	100%	3.57%	28	100%

Not Reported	71	0	71
Grand Total	98	1	99

Mean (average)	7.83	6.4	7.78
Median (middle)	6	6.4	6.2
Mode (most frequent)	12.8	6.4	12.8

Under Death Sentence

Produced for **General Distribution**

Scope of substance abuse - summary

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
Substance Abuse	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
None	37	37.76%	97.37%	1	100.00%	2.63%	38	38.38%
Drugs only	29	29.59%	100.00%				29	29.29%
Alcohol only	5	5.10%	100.00%				5	5.05%
Drugs and alcohol	27	27.55%	100.00%				27	27.27%
Total Reported	98	100%	98.99%	1	100%	1.01%	99	100%

Not Reported	0	0	0
Grand Total	98	1	99

Mode (most frequent)	None	None	None

Produced for **General Distribution**

Scope of substance abuse - detail

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
Substance Abuse	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
No drug or alcohol problems	37	37.76%	97.37%	1	100.00%	2.63%	38	38.38%
No drug problem but alcohol abuse	4	4.08%	100.00%				4	4.04%
No drug problem but alcoholism	1	1.02%	100.00%				1	1.01%
Drug experiment but no alcohol	12	12.24%	100.00%				12	12.12%
Drug experiment & alcohol abuse	6	6.12%	100.00%				6	6.06%
Drug experiment & alcoholism	4	4.08%	100.00%				4	4.04%
Drug abuse but no alcohol	17	17.35%	100.00%				17	17.17%
Drug abuse and alcohol abuse	14	14.29%	100.00%				14	14.14%
Drug abuse and alcoholism	3	3.06%	100.00%				3	3.03%
Total Reported	98	100%	98.99%	1	100%	1.01%	99	100%

Not Reported	0	0	0
Grand Total	98	1	99

Mode	(most frequent)	No drug or alcohol problems	No drug or alcohol problems	No drug or alcohol
				problems

Georgia Dept of Corrections Inmate Statistical Profile 01-JUN-11 Page 44

Under Death Sentence

Produced for **General Distribution**

Current / last mental health treatment level

COL % - percent each COUNT is of its particular column

		Male			Female		To	tal
Mental Health Treatment Lev	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 No problem at current time	14	24.14%	100.00%				14	23.73%
2 Receiving outpatient treatment	38	65.52%	97.44%	1	100.00%	2.56%	39	66.10%
3 Inpatient, moderate treatment	5	8.62%	100.00%				5	8.47%
4 Inpatient, intensive treatment	1	1.72%	100.00%				1	1.69%
Total Evaluated	58	100%	98.31%	1	100%	1.69%	59	100%

Never had MH evaluation	40	0	40
Grand Total	98	1	99

Median (middle)	Receiving outpatient treatment	Receiving outpatient treatment	Receiving outpatient treatment
Mode (most frequent)	Receiving outpatient treatment	Receiving outpatient treatment	Receiving outpatient treatment

Under Death Sentence

Produced for **General Distribution**

PULHESDWIT medical scale - 'P' overall condition ('P'hysical)

COL % - percent each COUNT is of its particular column

		Male			Female)	To	tal
'P' Overall Condition	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 No medical illness	29	60.42%	96.67%	1	100.00%	3.33%	30	61.22%
2 Well-controlled chronic	14	29.17%	100.00%				14	28.57%
illness								
3 Poorly-controlled chronic	5	10.42%	100.00%				5	10.20%
illness								
Total Reported	48	100%	97.96%	1	100%	2.04%	49	100%

Not Reported	50	0	50
Grand Total	98	1	99

Mode (most frequent)	1 No medical illness	1 No medical illness	1 No medical illness
----------------------	----------------------	----------------------	----------------------

Produced for **General Distribution**

PULHESDWIT medical scale - 'U' upper body

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
'U' Upper Body	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 Upper bones, joints, muscles all OK	47	97.92%	97.92%	1	100.00%	2.08%	48	97.96%
2 One or both arms minimally limited	1	2.08%	100.00%				1	2.04%
Total Reported	48	100%	97.96%	1	100%	2.04%	49	100%

Not Reported	50	0	50
Grand Total	98	1	99

Mode (most frequent) 1 Upper bones, joints, muscles all OK		1 Upper bones, joints, muscles all OK
---	--	---

Produced for **General Distribution**

Page 47

PULHESDWIT medical scale - 'L' lower body

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
'L' Lower Body	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 Lower bones, joints,	42	87.50%	97.67%	1	100.00%	2.33%	43	87.76%
muscles all OK								
2 One or both legs minimally	6	12.50%	100.00%				6	12.24%
limited	•	•			•			
Total Reported	48	100%	97.96%	1	100%	2.04%	49	100%

Not Reported	50	0	50
Grand Total	98	1	99

|--|

Under Death Sentence

Produced for **General Distribution**

PULHESDWIT medical scale - 'H' hearing

COL % - percent each COUNT is of its particular column

	Male			Female			Total	
'H' Hearing	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 Normal hearing both ears	48	100.00%	97.96%	1	100.00%	2.04%	49	100.00%
Total Reported	48	100%	97.96%	1	100%	2.04%	49	100%

Not Reported	50	0	50
Grand Total	98	1	99

Mode	e (most frequent)	1 Normal hearing both ears	1 Normal hearing both ears	
				both ears

Under Death Sentence

Produced for **General Distribution**

Page 49

PULHESDWIT medical scale - 'E' vision

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
'E' Vision	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 Correctable to 20/40 in both	41	85.42%	97.62%	1	100.00%	2.38%	42	85.71%
eyes				•				
2 Correctable to 20/70 in one	7	14.58%	100.00%				7	14.29%
eye, may be blind in other								
Total Reported	48	100%	97.96%	1	100%	2.04%	49	100%

Not Reported	50	0	50
Grand Total	98	1	99

Mode	e (most frequent)	1 Correctable to 20/40 in both	1 Correctable to 20/40 in	1 Correctable to
		eyes	both eyes	20/40 in both eyes

Under Death Sentence

Produced for **General Distribution**

PULHESDWIT medical scale - 'S' pSychiatric

COL % - percent each COUNT is of its particular column

		Male			Female		To	tal
'S' pSychiatric	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 No impairment or disorders	35	59.32%	100.00%				35	58.33%
2 Stable, or in remission, or	19	32.20%	95.00%	1	100.00%	5.00%	20	33.33%
mild impairment or retardation	_							
3 Requires moderate inpatient	3	5.08%	100.00%				3	5.00%
treatment								
4 Requires intensive inpatient	1	1.69%	100.00%				1	1.67%
treatment				1				
5 Requires Crisis Stabilization	1	1.69%	100.00%				1	1.67%
Unit (CSU) inpatient care	,			1				
Total Reported	59	100%	98.33%	1	100%	1.67%	60	100%
Not Reported		39			0		3	9
Grand Total		98			1		9	9

Mode	(most frequent)	1 No impairment or disorders	2 Stable, or in remission,	1 No impairment or
			or mild impairment or	disorders
			retardation	

Under Death Sentence

Produced for **General Distribution**

Page 51

PULHESDWIT medical scale - 'D' dental

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
'D' Dental	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 Minimal routine dental health	24	55.81%	96.00%	1	100.00%	4.00%	25	56.82%
needs		•			•			
2 Moderate cavities and/or gum	16	37.21%	100.00%				16	36.36%
disease		•			•			
3 Extensive gum disease	3	6.98%	100.00%				3	6.82%
and/or widespread decay								
Total Reported	43	100%	97.73%	1	100%	2.27%	44	100%

Not Reported	55	0	55
Grand Total	98	1	99

Mode (most frequent) 1 Minimal routine dental health needs	1 Minimal routine dental health needs	1 Minimal routine dental health needs
---	--	---

Under Death Sentence

Produced for **General Distribution**

PULHESDWIT medical scale - 'W' work ability

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
'W' work ability	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 Unrestricted work or activity	44	91.67%	97.78%	1	100.00%	2.22%	45	91.84%
2 Minor restrictions on type of	4	8.33%	100.00%				4	8.16%
work								
Total Reported	48	100%	97.96%	1	100%	2.04%	49	100%

Not Reported	50	0	50
Grand Total	98	1	99

Mode (most frequent)	1 Unrestricted work or activity	1 Unrestricted work or activity	1 Unrestricted work or activity

Under Death Sentence

Produced for **General Distribution**

PULHESDWIT medical scale - 'I' impairment

COL % - percent each COUNT is of its particular column

		Male			Female		To	tal
'I' Impairment	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 No impairments or	48	100.00%	97.96%	1	100.00%	2.04%	49	100.00%
disabilities								
Total Reported	48	100%	97.96%	1	100%	2.04%	49	100%

Not Reported	50	0	50
Grand Total	98	1	99

Mode (most frequent)	1 No impairments or disabilities	1 No impairments or disabilities	1 No impairments or disabilities

Under Death Sentence

Produced fo General Distribution

PULHESDWIT medical scale - 'T' transportability

COL % - percent each COUNT is of its particular column

		Male			Female		To	tal
'T' Transportability	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 Can be transported in any ordinary approved vehicle	48	100.00%	97.96%	1	100.00%	2.04%	49	100.00%
Total Reported	48	100%	97.96%	1	100%	2.04%	49	100%

Not Reported	50	0	50
Grand Total	98	1	99

Mode (most frequent)	1 Can be transported in any ordinary approved vehicle	ordinary approved vehicle	
----------------------	---	---------------------------	--

Under Death Sentence

Produced for **General Distribution**

Criminality in family, self-reported

COL % - percent each COUNT is of its particular column

	Male			Female			Total	
Criminality In Family	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Yes, criminality in family	34	35.79%	100.00%				34	35.42%
No criminality in family	61	64.21%	98.39%	1	100.00%	1.61%	62	64.58%
Total Reported	95	100%	98.96%	1	100%	1.04%	96	100%

Not Reported	3	0	3
Grand Total	98	1	99

Mode	(most frequent)	No criminality in family	No criminality in family	No criminality in family

Under Death Sentence

Produced for **General Distribution**

Alcoholism in family, self-reported

COL % - percent each COUNT is of its particular column

	Male			Female			Total	
Alcoholism In Family	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Yes, alcoholism in family	33	34.74%	100.00%				33	34.38%
No alcoholism in family	62	65.26%	98.41%	1	100.00%	1.59%	63	65.63%
Total Reported	95	100%	98.96%	1	100%	1.04%	96	100.0%

Not Reported	3	0	3
Grand Total	98	1	99

Mode	(most frequent)	No alcoholism in family	No alcoholism in family	No alcoholism in
				family

Under Death Sentence

Produced for **General Distribution**

Drug abuse in family, self-reported

COL % - percent each COUNT is of its particular column

	Male			Female			Total	
Drug Abuse In Family	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Yes, drug abuse in family	11	11.58%	100.00%				11	11.46%
No drug abuse in family	84	88.42%	98.82%	1	100.00%	1.18%	85	88.54%
Total Reported	95	100%	98.96%	1	100%	1.04%	96	100%

Not Reported	3	0	3
Grand Total	98	1	99

Mode (most frequent) No drug abuse in family	No drug abuse in family	No drug abuse in family
--	-------------------------	-------------------------

Under Death Sentence

Produced for **General Distribution**

Subjected to frequent beatings, self-reported

COL % - percent each COUNT is of its particular column

	Male		Female			Total		
Frequent beatings	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Yes, subjected to frequent	20	21.05%	100.00%				20	20.83%
beatings								
Not subjected to frequent	75	78.95%	98.68%	1	100.00%	1.32%	76	79.17%
beatings		•						
Total Reported	95	100%	98.96%	1	100%	1.04%	96	100%

Not Reported	3	0	3
Grand Total	98	1	99

Mode	(most frequent)	Not subjected to frequent beatings	Not subjected to frequent beatings	Not subjected to frequent beatings

Under Death Sentence

Produced for **General Distribution**

Father absent during inmate's childhood

COL % - percent each COUNT is of its particular column

	Male		Female			Total		
Father Absent	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Yes, father was absent	33	34.74%	97.06%	1	100.00%	2.94%	34	35.42%
No, father was not absent	62	65.26%	100.00%				62	64.58%
Total Reported	95	100%	98.96%	1	100%	1.04%	96	100%

Not Reported	3	0	3
Grand Total	98	1	99

Mode	(most frequent)	No, father was not absent	Yes, father was absent	No, father was not
				absent

Under Death Sentence

Produced for **General Distribution**

Mother absent during inmate's childhood

COL % - percent each COUNT is of its particular column

	Male		Female			Total		
Mother Absent	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Yes, mother was absent	8	8.42%	100.00%				8	8.33%
No, mother was not absent	87	91.58%	98.86%	1	100.00%	1.14%	88	91.67%
Total Reported	95	100%	98.96%	1	100%	1.04%	96	100%

Not Reported	3	0	3
Grand Total	98	1	99

Mode	(most frequent)	No, mother was not absent	No, mother was not absent	No, mother was
				not absent

Under Death Sentence

Produced for **General Distribution**

Inmate diagnosed as manipulative

COL % - percent each COUNT is of its particular column

	Male		Female			Total		
Manipulative	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Yes, manipulative	4	4.17%	100.00%				4	4.12%
No, not manipulative	92	95.83%	98.92%	1	100.00%	1.08%	93	95.88%
Total Reported	96	100%	98.97%	1	100%	1.03%	97	100%

Not Reported	2	0	2
Grand Total	98	1	99

Mode	(most frequent)	No, not manipulative	No, not manipulative	No, not
				manipulative

Under Death Sentence

Produced for **General Distribution**

Inmate diagnosed as assaultive

COL % - percent each COUNT is of its particular column

	Male		Female			Total		
Assaultive	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Yes, assaultive	57	59.38%	100.00%				57	58.76%
No, not assaultive	39	40.63%	97.50%	1	100.00%	2.50%	40	41.24%
Total Reported	96	100%	98.97%	1	100%	1.03%	97	100%

Not Reported	2	0	2
Grand Total	98	1	99

Mode	(most frequent)	Yes, assaultive	No, not assaultive	Yes, assaultive

Georgia Dept of Corrections

Inmate Statistical Profile 01-JUN-11 Page 63

Under Death Sentence

Produced for **General Distribution**

Number of prior Georgia incarcerations

COL % - percent each COUNT is of its particular column

		Male			Female		To	tal
Num of Prior GA Incarcerations	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
0	63	64.29%	98.44%	1	100.00%	1.56%	64	64.65%
1	19	19.39%	100.00%				19	19.19%
2	9	9.18%	100.00%				9	9.09%
3	4	4.08%	100.00%				4	4.04%
4	2	2.04%	100.00%				2	2.02%
More Than 5	1	1.02%	100.00%				1	1.01%
Total Reported	98	100%	98.99%	1	100%	1.01%	99	100%

Not Reported	0	0	0
Grand Total	98	1	99

Mean (average)	.64		.64
Median (middle)	0	0	0
Mode (most frequent)	0	0	0

Georgia Dept of Corrections

Inmate Statistical Profile 01-JUN-11 Page 64

Under Death Sentence

Produced for **General Distribution**

Prison sentence in years

COL % - percent each COUNT is of its particular column ROW % - percent each COUNT is of its particular row

		Male			Female		Т	otal
Prison Sentence In Years	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Death	98	100.00%	98.99%	1	100.00%	1.01%	99	100.00%
Total Reported	98	100%	98.99%	1	100%	1.01%	99	100%

Not Reported	0	0	0
Grand Total	98	1	99

Determinate (numeric) sentences only

Mann (accesses)		
Mean (average)		
mount (average)		

All sentences (including determinate), with life, life without parole, and death sentences figured at 45 years

Mean (average)	45	45	45

Georgia Dept of Corrections Inmate Statistical Profile 01-JUN-11 Page 65

Under Death Sentence

Produced for **General Distribution**

Primary offense, broken out into felonies vs misdemeanors

COL % - percent each COUNT is of its particular column

		Male			Female		То	tal
Felonies and Misdemeanors	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Felonies	98	100.00%	98.99%	1	100.00%	1.01%	99	100.00%
Total Reported	98	100%	98.99%	1	100%	1.01%	99	100%

Not Reported	0	0	0
Grand Total	98	98	99

Mode (most frequent)	Felonies	Felonies	Felonies

Under Death Sentence

Produced for **General Distribution**

Primary offense, broken out into six broad crime categories

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
Crime Categories	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 Violent	98	100.00%	98.99%	1	100.00%	1.01%	99	100.00%
Total Reported	98	100%	98.99%	1	100%	1.01%	99	100%

Not Reported	0	0	0
Grand Total	98	1	99

Mode (most frequent)	Violent	Violent	Violent

Georgia Dept of Corrections

Inmate Statistical Profile 01-JUN-11 Page 67

Under Death Sentence

Produced for **General Distribution**

Primary offense, detailed offense code

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
Primary Offense	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1101 Murder	97	98.98%	98.98%	1	100.00%	1.02%	98	98.99%
1311 Kidnapping	1	1.02%	100.00%				1	1.01%
Total Rported	98	100%	98.99%	1	100%	1.01%	99	100%

Not Reported	0	0	0
Grand Total	98	1	99

Mode (most frequent)	1101 Murder	1101 Murder	1101 Murder

Produced for **General Distribution**

County of conviction of primary offense

COL % - percent each COUNT is of its particular column

			Male			Female		То	tal
Count	y of Conviction	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1	Appling	1	1.02%	100.00%				1	1.01%
3	Bacon	1	1.02%	100.00%				1	1.01%
5	Baldwin	5	5.10%	100.00%				5	5.05%
8	Bartow	1	1.02%	100.00%				1	1.01%
17	Burke	1	1.02%	100.00%				1	1.01%
20	Camden	1	1.02%	100.00%				1	1.01%
24	Charlton	1	1.02%	100.00%				1	1.01%
25	Chatham	6	6.12%	100.00%				6	6.06%
31	Clayton	4	4.08%	100.00%				4	4.04%
33	Cobb	9	9.18%	100.00%				9	9.09%
34	Coffee	1	1.02%	100.00%				1	1.01%
40	Crisp	1	1.02%	100.00%				1	1.01%
42	Dawson	1	1.02%	100.00%				1	1.01%
44	Dekalb	2	2.04%	100.00%				2	2.02%
45	Dodge	1	1.02%	100.00%				1	1.01%
47	Dougherty	1	1.02%	100.00%				1	1.01%
48	Douglas	3	3.06%	100.00%				3	3.03%
49	Early	1	1.02%	100.00%				1	1.01%
52	Elbert	1	1.02%	100.00%				1	1.01%
57	Floyd	4	4.08%	100.00%				4	4.04%
60	Fulton	5	5.10%	100.00%				5	5.05%
63	Glynn	3	3.06%	100.00%				3	3.03%
64	Gordon	1	1.02%	100.00%				1	1.01%
67	Gwinnett	2	2.04%	66.67%	1	100.00%	33.33%	3	3.03%
69	Hall	2	2.04%	100.00%				2	2.02%
72	Harris	1	1.02%	100.00%				1	1.01%
75	Henry	1	1.02%	100.00%				1	1.01%
76	Houston	2	2.04%	100.00%				2	2.02%
78	Jackson	1	1.02%	100.00%				1	1.01%
81	Jefferson	1	1.02%	100.00%				1	1.01%
84	Jones	3	3.06%	100.00%				3	3.03%
87	Laurens	1	1.02%	100.00%				1	1.01%
88	Lee	1	1.02%	100.00%				1	1.01%
93	Lumpkin	1	1.02%	100.00%				1	1.01%
94	Macon	1	1.02%	100.00%				1	1.01%
102	Monroe	1	1.02%	100.00%				1	1.01%
104	Morgan	1	1.02%	100.00%				1	1.01%
105	Murray	1	1.02%	100.00%				1	1.01%

Produced for **General Distribution**

County of conviction of primary offense

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
County of Conviction	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
106 Muscogee	5	5.10%	100.00%				5	5.05%
107 Newton	2	2.04%	100.00%				2	2.02%
110 Paulding	2	2.04%	100.00%				2	2.02%
113 Pierce	1	1.02%	100.00%				1	1.01%
121 Richmond	3	3.06%	100.00%				3	3.03%
126 Spalding	3	3.06%	100.00%				3	3.03%
136 Thomas	1	1.02%	100.00%				1	1.01%
138 Toombs	1	1.02%	100.00%				1	1.01%
139 Towns	1	1.02%	100.00%				1	1.01%
146 Walker	3	3.06%	100.00%				3	3.03%
147 Walton	1	1.02%	100.00%				1	1.01%
Total Rported	98	100%	98.99%	1	100%	1.01%	99	100%

Not Reported	0	0	0
Grand Total	98	1	99

Mode (most frequent)	Cobb	Gwinnett	Cobb
----------------------	------	----------	------

Produced for **General Distribution**

Circuit of conviction of primary offense

COL % - percent each COUNT is of its particular column

	I		Male			Female		То	tal
Circui	t of Conviction	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
2	Alcovy Circuit	3	3.06%	100.00%				3	3.03%
3	Atlanta Circuit	5	5.10%	100.00%				5	5.05%
5	Augusta Circuit	4	4.08%	100.00%				4	4.04%
7	Brunswick Circuit	5	5.10%	100.00%				5	5.05%
8	Chattahoochee Circuit	6	6.12%	100.00%				6	6.06%
9	Cherokee Circuit	2	2.04%	100.00%				2	2.02%
10	Clayton Circuit	4	4.08%	100.00%				4	4.04%
11	Cobb Circuit	9	9.18%	100.00%				9	9.09%
12	Conasauga Circuit	1	1.02%	100.00%				1	1.01%
13	Cordele Circuit	1	1.02%	100.00%				1	1.01%
15	Dougherty Circuit	1	1.02%	100.00%				1	1.01%
16	Dublin Circuit	1	1.02%	100.00%				1	1.01%
17	Eastern Circuit	6	6.12%	100.00%				6	6.06%
18	Flint Circuit	1	1.02%	100.00%				1	1.01%
19	Griffin Circuit	3	3.06%	100.00%				3	3.03%
20	Gwinnett Circuit	2	2.04%	66.67%	1	100.00%	33.33%	3	3.03%
21	Houston Circuit	2	2.04%	100.00%				2	2.02%
22	Lookout Mountain Circuit	3	3.06%	100.00%				3	3.03%
24	Middle Circuit	2	2.04%	100.00%				2	2.02%
26	Northeastern Circuit	3	3.06%	100.00%				3	3.03%
27	Northern Circuit	1	1.02%	100.00%				1	1.01%
28	Ocmulgee Circuit	9	9.18%	100.00%				9	9.09%
29	Oconee Circuit	1	1.02%	100.00%				1	1.01%
31	Pataula Circuit	1	1.02%	100.00%				1	1.01%
32	Piedmont Circuit	1	1.02%	100.00%				1	1.01%
33	Rome Circuit	4	4.08%	100.00%				4	4.04%
35	Southern Circuit	1	1.02%	100.00%				1	1.01%
36	Southwestern Circuit	2	2.04%	100.00%				2	2.02%
37	Stone Mountain Circuit	2	2.04%	100.00%				2	2.02%
41	Waycross Circuit	4	4.08%	100.00%				4	4.04%
44	Douglas Circuit	3	3.06%	100.00%				3	3.03%
46	Enotah Circuit	2	2.04%	100.00%				2	2.02%
48	Towaliga Circuit	1	1.02%	100.00%				1	1.01%
49	Paulding Circuit	2	2.04%	100.00%				2	2.02%
Total	Rported	98	100%	98.99%	1	100%	1.01%	99	100%

Not Reported	0	0	0

Georgia Dept of Corrections Inmate Statistical Profile 01-JUN-11 Page 71

Under Death Sentence

Produced for **General Distribution**

Circuit of conviction of primary offense

COL % - percent each COUNT is of its particular column

	Male	Female	Total
Grand Total	98	1	99
	•	•	•

Mode (most frequent) Ocmulgee	Gwinnett	Ocmulgee
-------------------------------	----------	----------

Under Death Sentence

Produced for **General Distribution**

Years served (jail + prison) in this incarceration

COL % - percent each COUNT is of its particular column

		Male			Female		То	tal
Years Served	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
2 to 2.99 years	2	2.04%	100.00%				2	2.02%
3 to 3.99 years	2	2.04%	100.00%				2	2.02%
4 to 4.99 years	2	2.04%	100.00%				2	2.02%
5 to 5.99 years	2	2.04%	100.00%				2	2.02%
7 to 7.99 years	1	1.02%	100.00%				1	1.01%
8 to 8.99 years	4	4.08%	100.00%				4	4.04%
9 to 9.99 years	6	6.12%	100.00%				6	6.06%
10 to 10.99 years	3	3.06%	100.00%				3	3.03%
11 to 11.99 years	2	2.04%	100.00%				2	2.02%
12 to 12.99 years	4	4.08%	100.00%				4	4.04%
13 to 13.99 years	6	6.12%	100.00%				6	6.06%
14 to 14.99 years	4	4.08%	80.00%	1	100.00%	20.00%	5	5.05%
15 to 15.99 years	10	10.20%	100.00%				10	10.10%
16 to 16.99 years	7	7.14%	100.00%				7	7.07%
17 to 17.99 years	5	5.10%	100.00%				5	5.05%
18 to 18.99 years	3	3.06%	100.00%				3	3.03%
19 to 19.99 years	4	4.08%	100.00%				4	4.04%
20 to 20.99 years	6	6.12%	100.00%				6	6.06%
21 to 21.99 years	5	5.10%	100.00%				5	5.05%
22 to 22.99 years	4	4.08%	100.00%				4	4.04%
23 to 23.99 years	1	1.02%	100.00%				1	1.01%
24 to 24.99 years	3	3.06%	100.00%				3	3.03%
25 to 25.99 years	2	2.04%	100.00%				2	2.02%
26 to 26.99 years	1	1.02%	100.00%				1	1.01%
27 to 27.99 years	1	1.02%	100.00%				1	1.01%
29 to 29.99 years	2	2.04%	100.00%				2	2.02%
Thirty + years	6	6.12%	100.00%				6	6.06%
Total Reported	98	100%	98.99%	1	100%	1.01%	99	100%

Not Reported	0	0	0
Grand Total	98	1	99

Mean (average)	16.8	14.26	16.78
Median (middle)	16.275	14.26	16.23
Mode (most frequent)	15 to 15.99 years	14 to 14.99 years	15 to 15.99 years

Under Death Sentence

Produced for **General Distribution**

Results of most recent HIV tests

COL % - percent each COUNT is of its particular column

	Male				Female			Total	
HIV Test Results	Count	Col %	Row %	Count	Col %	Row %	Total	Col %	
Positive	1	1.10%	100.00%				1	1.09%	
Negative	90	98.90%	98.90%	1	100.00%	1.10%	91	98.91%	
Total Reported	91	100%	98.91%	1	100%	1.09%	92	100%	

Not Reported	7	0	7
Grand Total	98	1	99

Under Death Sentence

Produced for **General Distribution**

Results of most recent tuberculosis test

COL % - percent each COUNT is of its particular column

	Male				Female			Total	
Tuberculosis Test Results	Count	Col %	Row %	Count	Col %	Row %	Total	Col %	
Positive on current test	28	28.57%	100.00%				28	28.28%	
Negative	70	71.43%	98.59%	1	100.00%	1.41%	71	71.72%	
Total Reported	98	100%	98.99%	1	100%	1.01%	99	100%	

Not Reported	0	0	0
Grand Total	98	1	99

Under Death Sentence

Produced for **General Distribution**

Results of most recent syphilis test

COL % - percent each COUNT is of its particular column

	Male			Female			Total	
Syphilis Test Results	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Negative	75	100.00%	98.68%	1	100.00%	1.32%	76	100.00%
Total Reported	75	100%	98.68%	1	100%	1.32%	76	100%

Not Reported	23	0	23
Grand Total	98	1	99

Produced for **General Distribution**

Results of most recent Hepatitis-C test

COL % - percent each COUNT is of its particular column

	Male			Female			Total	
Hepatitis-C Test Results	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Negative	2	100.00%	100.00%				2	100.00%
Total Reported	2	100%	100.00%		%	0.00%	2	100%

Not Reported	96	1	97
Grand Total	98	1	99